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ZOMEE SO [1L.0m=1A& L
Bl KAARY - F L ¢ 150 X5.0m S
ZOfMESE 1SO |7+8+1+3=19 19
KR F L &  75X5.0m A
FH4.0+1.3+4.7+ 21.0+1.5+1.0+0.6=14.1m=3K&
ZOMEES SO [1.2m=14k 1
KRV TF L & » 75X5.0m A
1SO 1 1
EF Y &4 v ® 150 JIES
1SO 1+1+1 3
EF Y 4 v b ¢ 75 &
1SO 1 ® 150 0.5 X 1 =0.50m ¢75 0.4 X 1 =0.40m 1
EF ] & F — X $ 150X ¢ 75 JIES
1SO 1 ® 75 0.1 X 1 =0.10m ¢75 0.25 X 1 =0.25m 1
EF ] & F — X d 75X ¢ 75 JIES
1SO 1 0.48 X 1 =0.48m 1
EF H = ~ o K $ 75X 45° JIES
1SO 1 0.36 X 1 =0.36m 1
EF H = ~ o K d75X11° 1/4 JIES
1SO 2 0.45 X 2 =0.90m 2
EF [ =% ~ o K $ 150X 45° JIES
1SO 1 0.38 X 1 =0.38m 1
EF [ =% ~ o K $ 75X 45° JIES
1SO 1 0.16 X 1 =0.16m 1
EFAZ 750V 8% ¢ 75 &
PEXPE ISOH |1 1
AHFIRL wF— =24 NPP) ® 150 JIES
PEXVP ISOff 1 1
AHTIRL W — a4 MNPY) ® 150 JIES
PEXPE ISOH |1 1
AATRL Y —V a4 MPP) ¢ 75 {#
PEHISOH) 1 1
A H X X v T ¢ 75 &
1 1
HIlI — % ¥ v 7 ¢ 75 {#




1. BOKAEATRRE T (4 T Fa/NITPY) (1-2)
QBRI NRAESE R )R I
# = 3 ==
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SUS 1 1
AV A B2 ¢ 75 HH
1 1
AR " ¢ 75 JIEil
1+1 1.02 X 2 =2.040m 2
L OV 7R — AT ¢ 150 L
1+1 0.78 X 2 =1.560m 2
L O 7 b — A A 675 e
T 18 HORL2AA ., A H 24 2
A R L S| R A
A 12.30+97.43+2.04+1.56=113.33 113.3
MOoEr i v — b W=150 m
113.33 113.3
w W OR T = W=30 m
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BT F L& AT ¢ 75 m
® 75 0.4+0.1+0.25+0.48+0.36+0.38+0.16=2.13
BEERE
1+4 5
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7 7
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1 1
VP g W T ¢ 150 M
1 1
NS - ) [ ¢ 75 M
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RIzF LU EMFET ¢ 150 H
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ARV F LU BT T ¢ 75 N
EF (20T 1+1+2 4
ARV F LU BHRT T ¢ 150 N
EF (20T 3+1+1 5
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ARV F LU BHRT T ¢ 150 N
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1 1
T s # F T ¢ 75 ]
1 1
7 J v U M F L ¢ 75 H
2 2
- 8 8% B T $ 150 e
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9 & B OE T ¢ 75 P
4 4
8 R R E L A-BFE Y
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7 5 Y AL T b 75 H
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WEE e = L& B F S 97.40 97.4
FHIAA T 75 m
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BT ITATF v 7 F B kg
51kg(¢ 150, FEOIF1EDHT-V) X 17+ 23kg( ¢ 75, (LEIFR 1 5dr7-0) X 23 + 66kg (R B 1 {& 1 dr7-0) X 1 A1 = 163.00 163.0
A A N . ¢ kg
il LAY 163.0 163.0
Bk < A kg
1 1
& i 2| 2t#H-15H 10kmET [A]
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(&

ZAOMES 1SO [1+1 2.0+ £3.0=5.0m=14& 2

FlAK AR FL & ¢ 50X5.0m N
ZOMEES SO [2.6m=14 1

Bl KAARY - F L ¢50x5.0m K
1SO 1 ® 75 0.1 X 1 =0.10m  ¢50 0.28 X 1 =0.28m 1

EF W =% F — X 75X ¢ 50 1
1SO 2 0.22 X 2 =0.44m 2

EF [ =% ~ v K $ 50X 45° 1
1SO 2 0.27 X 2 =0.54m 2

BF f % ~ » B ¢ 50 X 45° 1
BT L

EF & #8 v 7 v b ¢ 50 JIEil
YTI7A—h 13.98 14.0

MOoE PR OER v — b W=150 m
14.00 14.0

w W OR T = T W=30 m
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QBRI NRAESE R )R I
i = B &+
——N|4 i ® =t &t = HA7| & e
AL
G )) ¢ 50
BEHES 5.0X1+5.0+2.6+1.36=13.96 14.0
BT F L& AT ® 50 m
® 50 0.1+0.28+0.44+0.54=1.36
BEERE
2 2
RV F L&Y WM ¢ 50 M
EF (10T 24+2+1 5
KUY F L ERFE T ¢ 50 8]
EF (20T 1 1
KUY F L ERFE T ¢ 75 8]
EF (20T 2 2
KUY F L ERFE T ¢ 50 8]
1 1
* ¥ A ¥ A& T 50A H
14.00 14.0
PSR A A S — AR L m
14.00 14.0
BHRT — gk L ¢ 50 m
14.00 14.0
ar—7 47 UAY— 1T m M1 4k
VP& 14.0/3.0=4.67 4
BE 3% & Bk ) W T ¢ 50 H
WEE e = L& B F S 14.00 14.0
FEIAA T ¢ 50 m
vV 14.0m( ¢ 50HIVP) X 1.098kg/m=15.37 15.4

BET AT v B G H

kg
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e L540m L=10.0m { ] I
I T O T T T e — =i 11L30) | .05

7 A 7 7 v b Y W T t=10cmEL F — '
______ BHO.28m’ | 1885 { 4 4 b =i 1885 | 19.00

G M BB LB A A t=10emBLF = m :
______ 1 R Y R R A T = T T I .

4 b Hil T BH0.28m’ = m :
_______________________________________ T R R T = T e .

A h W W T + = m :
______ BHO.28m’ | 056 { & & =i 056l s 06

w S T [ — m !
R,/ S S S I (R S N A S =i 140] s LO;

w = T {RFERD — m ;
I =i 090 5| 0.9;

HE 3 e = T BH0.28m® = m ;
_______________________________________ 275 L A h=hooo205) g 30

A R T AL = m :
______ RCA0~O0 | 220 & b= 2200 | 200

T & s S 1T t = 25bcm — m -
________ M=25 2200 4 =h2.200 | 200

i = s S 1T t = 10cm — m -
CFAEERUEAS20F | 1885 4 b =i 1885 .| 19.0;

ESS & | W=1.4K0f t=4cm = m ;
CBH0.28m3 bR | 134 L LA b =277 s 3.0,

B+ m @ T 4t—2km = m E
e e T e 0.8 ___

¥ 2 7 7 o b @& BT 2t-8.3km = m 5
I N T T T e — =l 075 5| 0.8

7 2 7 7 L R = m 5
M-25 R e e =1 1890 5| . 19.0,

£ B & E T t=5cm - m :
ANAVRREED) | 550 . =i....5.500 | 6.0

ES JH] Hi T|  FE# 15em - m :
e R T R T e =i 165 | 2.00

B — & ¥ T FZH% 30cm = m i
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